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@ 30° ® 35°

NS

@)

B

/BOC =2x70°=140°
ABOC & ol sz golnz

£OBC = % x40°=20°
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w2hA 35.5m ot




12.

2 204 AB= ¥ 09] #8001
/AOC = 120°, ZADC = 90°, AO =
12cm ¥ o|, ACAD 9] HolE 5t
2}, 120°

~-12em- -0

= cm
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1
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gt Zof gt AF7te] Arj=goeua
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. LAOB = 60°
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(PTO = /PT’O = 90°

(PTT" =90° - 15° = 75°
APTT' 2 o sHAZtgo|ng
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o $cm
\
\
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AB=BT,DC=CT

CH=6, BC=BT+ CT = 10( cm)

~BH= V102 - 62 = 8(cm) . AD = BH = 8cm

w2tA], oABCD £8+= AB+AD+DC+BC = 2+8+8+10 =
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EAoltt, ZAOD = 72° U T, /DOE ] 277

@® 15° @ 16° ® 17° @18° ® 19°

—_

AAOC £ o] 5z golB2 /ACD = 3 X 72° = 36° o]t}
T3 Hrdof thgt 957F /ACB = 90° ©] 1 CE 9] o] 582 A4l 0]

(ACE = /ACO + /DCE o]t}
45° = 36° + /DCE

.. /DCE = 9°
1
(9F7H= ox F47 o|B2 5.0ptDE ¢] 9F7te] ¢° o]B 2

2
5.0ptDE 9] %417+l /DOE = 9° x 2 — 18° o]t}




20. o= 2NN x4 Ly + £z o] FS FSHA?

@® 100° @ 120° ® 140° @ 160° )180°

LCBD = /x
/z = /ADC °|B =2
. LtABC + /ADC = /x + 2y + £z = 180°




21. ©= oABCD 7} ol WS o, /x o] 27|17

O 50° @ 52° 3®)54° @ 56°

® 58°

B

/x = /ADF = /CDE

(BAD = z/x + 32° = /DCE

ADCE | Al zx + 32° + zx + 40° = 180°
oo /x = b4°
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\VARR 4
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80 °

B

B ¢} D & o] gABDE + ¥of WA= 2 /A + /BDE =
180°

(BDC = 70° + 150° — 180° = 40°
/BOC = 2/BDC = 2 x 40° = 80°




23. Th& 2eIA M 0 = Aol B4, A4

AP = 99 HAdeltt. /PBA =120°
o o, AB : PB & ek v 2 et
W m:n oItk m+n o g st
ofet,

(CPB=90°o|B&2

(BPA =30°
(PCB =30°
(PBA =120°
~ (PAB =30°

APBA = /PAB = /APB ¢l o]5®¥Atztg o)t}
. AB:PB=1:1




24. o5 294 AD 7FAB ¢ FH L wl, CD ©] deol=?

O V3em @ 242cm ® 243cm
(@)2 V7em ® 2+1lem

/A = 30° °]E2 AB = 8 x cos 30° = 43 o]t}

BC = 8 xsin30° = 4 ©]|22 ACDB ¢ metrgA A=
Hgatm

CD = /(2V3)" +42 = Va8 =27
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e Aol 0 AFdS 29U’ A B
Hi7F itk A= A% 10km 2 55
25° 9] ko g 7kl B Al% 8km
EAZ 3500 ko g Zith O A4

| 2
> & 3v21km

of W& 4419 &S Het sbd
OA =10x 1.5 = 15 (km)
OB =8x 1.5 =12 (km)
BH = 125in60° = 6 V3(km)
OH = 12¢0s60° = 6 (km)

o AH=15-6 =9 (km)
ABHA = AZMZtgo|B g
AB = AH? + BH?

=321 (km) o]t}

1A1ZE 30 & 0] = o] Y1415 & A, B2} sk, & BollA OA




26. o3 219 Zol ¥ O of HHSHH= oABCD °l4 DA ¢} CB <
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(P =37, /Q =334 v, /BCD 2] 7|5 5l

iy
o

\VARR 4
0
i

55 °

B ,

/BCD = x 21l 5}

/CBP = 180° - 37° — x = 143° — x
/QDC = 180° — 33° — x = 147° — x
OABCD 7} Yof Y A5tz

143° — x + 147° — x = 180°

290° — 2x = 180°

—2x = —-110°

.. Lx = 5b°
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oS 1804 ZA AB = F 9o ZEH A 150" g
Mo, A P, Q& F 9] wHolck, :
(APB =150° ¥ wf, L/AQB 9] 37]& +
stofzt.
Q
’ léll_- o
> ™. 30°
FAP, QE Ave FAHAL X, A AB ool ¥ R

AAPQ A /PAR = /AQP ©]1L
ABPQ |4 /PBR = /BQP °o|B.&2
AAPB oA
(PAR + /PBR = 180° - 150° = 30°
(AQB = /AQP + /BQP

= /PAR + /PBR = 30°




28. oh& 193 o] ¥ = & AB,CD © WS P g E o, AP
12cm, AC = 13cm , 2CPB = 90° ©]t}. BD 9] Zo|& F5}loiat,

13cm C
A&~ 1 B
12cm |P
[ ]
D
> = cm
> 96 )
5 o
BC = 199
ACAP = ACBP

(CBD =90° 0|22

(CAP = /CBP = /BDP o|2&
ACAP @ ABDP (AA T2)
AC:DB=CP:BP

13:x=5:12
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SoX = T( Cm)




29. o2 I™NA x o] A7]E FoF A
oAt (&, @9l A=kttt

o

>
> =g o101°
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BD-BA =BC-BE °|E=&

H A, C D, EE3 9N Holot
(FEC = /FAD = 32°

(ADF = 180°-111° = 69°
Lx=69°+32°=101°




30. ©& g9 A /ACF = (FDB = 90° ©]2 AD=BD=DC ©|t}.

AB = 6em , DE = lem 9 1, BF ©] Zo]& 75497

—l N
B & F
@ 5em @ 6cm ® Tem @SCm

. LA = /F,

ABAC ~ ABFD (+ AAR-S)
/A = /DCA
. /F = /DCAT&tA], ACEF 2] €] 0] tish D

= DC?2 = DE - DF

32 = 1(1 + x) T&fA] x = 8 oJt},




31. o= aABC o HiT 2% & &2 A2?

“12enr C H

@ BC = CA oJt}.
@ 2BC = CA °|t}.

® CH = AH = 6 ]t}
@)CH = AH = 6(V3 +1) °|et.
® AB =12V3 olt}.

B

AH = x&} otH

AH:BH=1: V3=x:x+12, V3x—x=12,x=6(V3+1)
ojtt.

AACH £ A Zo|5HAdZtgo|B2 CH = AH = 6(V3 +1)
oJtt.

/BAH = 60° |22 AB =y2}5}H AB:AH=2:1=1y:
6(V3+1),y=12(V3+1) o]t}




32. T I9OIA B AC 9 £ BC 9] Zol7t 21, A AB o A4
Zol7b3 91 @ CD o 94 WAL E 2 & 1, DE = 2 olek. o]
ul, 42 BC 9] ol Foofet,

C

/CBD = /CAD = /CAB - /DAB = /CBA - /BCD = /CEB
wtaba] A2 BC = A2 BDE 9] |3 ¢e] HAdolmz
BC =15 ~BC= Vi
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gog sy
HohT 5.0ptAB 919] F D ¢ which, BD o 9 Of
©]3, ,CBO = 20° & 1], /DOC ©] 27| 5}o]e},
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o

>
> = o120°

0 1 FA oA
sto] WAl

OB =0D °o|2&2

£0DC = /0OBC = 20°

.. .0DC = £COB = 20°

.. /DCO =40°

/DOC =180° - (20°+40°) = 120°




